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Topic:- General Knowledge and Logical Knowledge

1) Largest Desert in India isin __ / Wﬁmﬁw mﬁ'@ﬁl’%l
1. Uttar Pradesh / 3&R UG

2. Bihar / f98R

3. Rajasthan / JTSTYTT

4. Madhya Pradesh / H&J e

Correct Answer :-

 Rajasthan / XTSTRITH

2) River that makes a boundary between Madhya Pradesh and Uttar Pradesh is / H& Q%QT t-',a' 3R Q%QT *

1. Chambal / Idd
2. Gambhir / TTHR
3. Jamni / STTHAT
4. Betwa / Sddl

Correct Answer :-

e Jamni / STTHAT

3) Which of the following railways in not part of the World Heritage Site — Mountain Railways of India? /

fFrafafea ¥ @ o1 w1 Yemnf fay tRiew wue -uRa & udda Yaurt &1 urr g @
1. Nilgiri Mountain Railway / FTARIR gddig Yawnt

2. Jammu-Baramulla Line / ST §RTET AR

3. Darjeeling Himalayan Railway / GITolfeiT ferTerdt Yaam

4. Kalka Shimla Railway / BTAeT fRIAQT YAHRT

Correct Answer :-

e Jammu-Baramulla Line / STH] SIIRTHT awt



4) India's first passenger train ran in theyear ./ YR DI UYH '!Tlﬁ']'w, CL o et o
1. 1853
2.1923
3. 1835

4. 1917

Correct Answer :-

5) What is the name of the ruling family of Mysore? / 'a'\‘[\’ & AP UNAR BT HT 4 %?
1. Basavaraju family / SIHTARTY] gRaR

2. Narayan family / TRTIU] gRar

3. Wodeyar family / JIf$aR gRaR

4. Lakkanna family / b1 URAR

Correct Answer :-

o Wodeyar family / gIfegR uRaR

6) Rohtang pass is in /ﬁmaﬁ ﬁ%l
1. India / HRd

2. Bangladesh / CIERIEN

3. Nepal / B

4, Pakistan / lIEESIG]

Correct Answer :-

e India/ HRd
7) Government of India has appointed as the new Vice-Chairman of NITI Aayog. / HRd dXPRR E|
&1 Hifa AT &1 AT Iurwe FAged fFar g |

1. Sanjeev Sanyal / Ioitd =T
2. Sanjay Mitra / Jold o
3. Ramanathan Ramanan / XTHATY YHUA

4. Rajiv Kumar /X oild PHR



Correct Answer :-

e Rajiv Kumar / JTSild PHR

8) Where was the World Conference on Environment 2017 organized?/ 2017 A iR R ﬁ%{ I ﬁ}f
Smaifera forar rar or 2

1. Jaipur / STUYR
2. Bhopal / Hard

3. Indore / EE:R
4. Delhi / fewett

Correct Answer :-

« Delhi/ fewit

9) In which year was the first Five Year Plan implemented? / WIH eadla g &t fea ad ﬁ?l'l"]'\ﬁ’_iﬂ
T 41?

1. 1951
2. 1952
3. 1955

4. 1950

Correct Answer :-

10) In which state of India is the famous Sanchi Stupa located / HRd & ooy wrog ® uftrs it &1 LS R

1. Jharkhand / IRES
2. Andhra Pradesh / 3¢/ qa'-‘ZT

3. Maharashtra / HEIRTY
4. Madhya Pradesh / H&J e

Correct Answer :-

o Madhya Pradesh / H&J e

11) The impact of the Green Revolution was felt most in the production of / frad Iared W gfvd wifd &1
UHTT I 3w UsT 2



1. Wheat/ﬁg
2. Pulses / aIdd
3. Rice / dIdd

4, Oilseeds / Iéasﬂ

Correct Answer :-

e Wheat/ ﬁEU

12) The popular sitar player who learnt music from musician Mahar in Satna is / at uRrg RaR ae® ﬁl@ﬁ'
wifta 1 fRram ga1 & Hiitas 983 A U Fi:

1. Pandit Raguram Misra / Ufgd XYRMH oy
2. Pandit Jesraj / ufed SRS

3. Pandit Ravishankar / Gf&d Ifa=idR

4. Amjid Ali Khan / 3{H9Ig 3fcll @

Correct Answer :-

« Pandit Ravishankar / Gf$d Ifa=iem

13) The approximate length of river Narmada is about / qﬁET T'F.‘ﬁ &1 3 d ?ng GRIECRI %I
1. 900 Kilometers / 900 fpaHiex

2. 3200 Kilometers / 3200 fHaHIe

3. 1300 Kilometers / 1300 fh e
4. 515 Kilometers / 515 fdaiHiex

Correct Answer :-
« 1300 Kilometers / 1300 fora@Hex

14) If RICKSHAW is coded PKAMQJYY, then how is BICYCLE coded? / uﬁ RICKSHAW &1 PKAMQJYY kil

Pifsd forar omar 8, @) BICYCLE &1 %9 $ifsd farar s
1. DGEWEJG

2. DKEAENG

3. ZGAWAIC

4. ZKAAANC

Correct Answer :-



o ZKAAANC

15) Arjuna Award is given for / \?rIT{I:I'WN ¥ fore fear s 21

1. bravery on battlefield / TGYH T §gTgY
2. exceptional service in emergency / STOTRTeN fRUfd o SRR aT

3. outstanding performance in sports / @ﬂﬁm Rl

4. social service / FHTS JdT

Correct Answer :-

 outstanding performance in sports / ECNE 3h¥ LT

16) Patna stands on the banks of __ /UcHI A & PR waEr %|
1. Sutlej / gdaSl

2. Ganga / T1TT

3. Narmada / THT

4, Mahanadi / IIBFI_QPI

Correct Answer :-

« Ganga /T

17) Who among these was the founder of the Arya Samaj? / TR ¥ 3T THTS & HRITYS P A?
1. Ramakrishna Paramahamsa / JTHH W] RASY

2. Swami Vivekananda / WTHI fdddg

3. Swami Dayanand Saraswati / Tl G IREdt

4. Raja Ram Mohan Roy / Xl | HigA 1

Correct Answer :-

e Swami Dayanand Saraswati / WTHT gaTe TR

18) Who was adjudged as the best Director at the National Film Awards 2013? / Tl'g']'q e YIIDPIR 2013 ﬁ:,

|dAg e & U d fraet AT mar ot 2
1. Hansal Mehta / 89¢ Agdl

2. Balu Mahendra / a'lﬁ'q%?{
3. Anand Gandhi / 3¢ TTiell



4. Rakesh Omprakash Mehra / B HYBTA fl_ERT

Correct Answer :-

« Hansal Mehta / 89 'EIEFIT

19) Who won the ‘third battle of Panipat’?"/ ‘UT-IUd &1 dIRT g5’ b Sitar 412
1. Ibrahim Lodhi / ST&H lat

2. Ahmad Shah Abdali / 3/§HG R1T8 3fearell

3. Sher Shah Suri / TR 2118 3t

4. Hem Chandra Vikramaditya / B9 dx fawHrfed

Correct Answer :-

« Ahmad Shah Abdali / 3[8HG QT 3fealait

20) Find the odd one out: / Th faum Td aﬂﬁnz:
1. cock and hen /H"’I’f GﬁTB}ﬁ

2. King and Minister / XTSIl \3th3‘1

3. Husband and wife /tlﬁ‘f GhTUT?ﬁ

4. Dog and Bitch / Il @TW

Correct Answer :-
e King and Minister / XTSIl SR

21) Find the odd one out: /wﬁm:rslmaﬂﬁnz:
2,9, 28, 65,126, 217, 295

1. 217
2.126
3. 295

4.9

Correct Answer :-
e 295
22) What is the value of x in 3x6 — 2x0 - x6 = 60? / 3x6 — 2x0 - x6 = 60 ﬁxiﬂwqﬁ%?

1.6



2.5
3.3

4.4

Correct Answer :-

e 4

23) In a column of boys, Richard is the fifteenth one from front. There were thrice as many boys behind him as
there were in front of him. How many boys are there between Richard and the seventh boy from the rear end of the

column? / AS®HI & THh W™ H, RIS 3 | u==gdi §1 I9P 3} foraq dsd 2 ITQ A9 1A ds& 39 1D
Y RNTE IR THF MW FRAN AT Tr TP a=d &

1. 35
2. Inadequate data /éET Gi'qtlfl?f%
3.34

4. 33

Correct Answer :-

e 35

24) The tenth Guru of the Sikhs was / ﬁl@%mﬂg .
1. Guru Amar Das / TR 3HR Q¥

2. Guru Angad Dev / T[R® 371G ¢4

3. Guru Gobind Singh /ﬂ%ﬁﬂﬁ?{ﬁ%

4. Guru Arjan Dev / [ Glrfiqaa

Correct Answer :-

» Guru Gobind Singh / T Mide Rig

25) Complete the series choosing the missing number: / Y& IS TADR YEAT BT T HHoIC:

1,2,4,7,11, 16,

1.20

2.24

3. 18

4.22

Correct Answer :-



26) Complete the series choosing the missing number: / Y& JBAT TADR YEAT B T HHoIC:
6,9,18,45

1. 85

2. 135

3.61

4.52

Correct Answer :-

e 135

27) Complete the series choosing the missing number: / Y& JEAT TADR YEAT BT TR HHoIQ:

22,15,8,1, ;13

4, -10

Correct Answer :-

28) Select the option that is true about the Statements and Conclusions given: / 39 fawey w19
PIE Sifer f 7T Sy 3R sl & aR & 981 2

Statements: /| ®Y:
All bangles are round / 9} gf$ai M gt &

Some rings are bangles / P9 3?‘]:%&1 ﬂﬁ'ﬂT'@?ﬁ g

Conclusions: / fass:

I. All round bangles are rings / H’l-ﬁ'l'ﬁ?r gfear Fqfeai @
II. Some rings are round / $ [f&4ai Md g

1. only conclusion Il follows / Wﬁmﬂf 1 &WW%

2. only conclusion | follows / Had f=hY | WW%

3. neither conclusion | nor conclusion Il follows /:fﬁﬁﬁw | eﬁv:f?rﬁmmf 1] WW%
4. both conclusion | and Il follows / FTsh Y | GﬁT Il E(Pl:ﬁ &waﬂﬁ%

Correct Answer :-



« only conclusion Il follows / Had ey || WW%

29) Select the option that is true about the Statements and Conclusions given: / 39 fa®eq &1 99+
FIfoTe Sife 2T e HyY=Y i fAswpul & IR & 98 8:

Statements: / PY-:
Some grains are nuts / $ 3T A3 §
Some nuts are pulses / $9 Ao &

Conclusions: / e
I. Some pulses are nuts /| $ zﬂ?rﬁ%%
II. Some grains are pulses / Y 3T GIdl g

1. both conclusion | and Il follows / fsHH | 3R 11 aﬁr WW%

2. neither conclusion | nor conclusion Il follows /- Epf ﬁ'@?‘ﬁ | SﬁT - élf ﬁ'Eb_Ef [l SFERUT GG %
3. only conclusion Il follows / Wﬁwﬁf Il &WW%

4. only conclusion | follows / Had AHY | GWUTW%

Correct Answer :-

« only conclusion | follows / ad FHY | aaﬂwm%

30) Select the option that is true about the Statements and Conclusions given: / 39 v o199

PIE Sifer fAw 7T HYAY 3R Frewul & aR & T8 2

Statements: / ®Y:
All shirts are pants / 9t &S gaeqA &
No pant is black / 13 de[ HIeil Tl 8

Conclusions: / fpH:
I. No shirts are black / &ﬁ% HHW mﬂﬁ%
II. Some pants are shirts / $© Udqd HHIT &

1. only conclusion Il follows / mﬁwﬁf 1 G@TUTW%

2. only conclusion | follows / Had f=hY | WW%

3. neither conclusion | nor conclusion Il follows /qéﬁﬁw | eﬁv:fﬁﬁmmf 1] WW%
4. both conclusion | and Il follows / FTsh Y | GﬁT Il a:ﬁ &WW%

Correct Answer :-

« both conclusion I and Il follows / F&HY | 3R I Eﬁ:ﬁ GENTUTW%

31) Select the option that is true about the Statements and Conclusions given: / 39 fa®eq &1 99+
FIfoTE Sife 2T e Hy=Y ik fAswpul & I & 98 8:



Statements: / PY-:
Some pebbles are stones / S T[T UTITUT §
Some stones are rocks / & UTUTUT A %

Conclusions: / fAshd:
I. Some rocks are not stones /| P& A UT9T0T ) @
II. Some stones are pebbles / $S UTHTUT fewT &

1. only conclusion Il follows / Had sy || &WUTWT%

2. only conclusion | follows / Fad fAshy | &WW%

3. neither conclusion | nor conclusion Il follows /:[_E;HEIWET | ﬁ?qﬁﬁ'ﬁv_ﬁf 1] &HHTUTW%
4. both conclusion | and Il follows / f5P Y | 3Rl ?ﬂ:h &WW%

Correct Answer :-

« only conclusion Il follows / Had fshy || WW%

32) Find the next expression in the series: / §dT ¥ 3ATS UG &I 1A BIfoTg:
A, AAB, AAABBC, ?

1. AAABBBBCD
2. AAAABBCCD
3. AAAABBBCD

4. AAAABBBBC

Correct Answer :-
« AAAABBBCD

33) The series given below contains a sequence of numbers. Identify the incorrect combination: /

912 & 7 e §, Jemnai BT v HH UG ¥ Tod S Ugar:
121, 143, 166, 187, 209

1.187

2. 209

3. 166

4. 121

Correct Answer :-

e 166



If PICTUREis coded CIPTERU, then how is MIXTURE coded? / Gfé PICTURE® CIPTERU W Hifsd
a1 ST 8, @ MIXTURE & A Sifed faar srm?

1. MIXTERU
2. XIMTURE
3. ERUTXIM

4. XIMTERU

Correct Answer :-

e XIMTERU

35) If PHENOL is coded OGDMNK, then how is HYDROGEN coded? | Gfé PHENOL & OGDMNK &
FIfsd frar SIrar 8, @Y HYDROGEN & $A HifSd forar s

1. GZCQNFDM
2. GZCQMFDM
3. GXCQNFDM

4. GXCQNFCM

Correct Answer :-
o GXCQNFDM

36) Complete the series choosing the missing letter/s: / &l &R/ 3R DI AP Y@l Gl T PIfoTC:
bcc__bc__abcc_b__ca
1.b,a,9,b

2.b,a,b,c

3.3,¢,a,b

4.3,¢,a,cC

Correct Answer :-

e a,¢a,cC

37) In a certain code language Dark Red Colouris written kim cof demb and Red Ball Pen is written
fink lima kim, then how is Red coded? | U% WTH IS HINT ® Dark Red Colour &1 kim cof demb fer&@r
7T 8 3R Red Ball Pen @1 fink lima kim er@T G7d7 8 A Red &) $4 I fohar Sam?

1. lima

2. kim



3. fink

4. cof

Correct Answer :-
o kim

38) In a certain code language, hela dela kela means secret code word, dela hola jala means the
last word, and kela kola pela means her secret affair. Which is the word for he/ain that code
language? / Th WTH PIS HTUT ﬁ', hela dela kela &1 314 secret code word, dela hola jala T 3 ¥ the
last word, 3R kela kola pela @1 314 her secret affair 811 &1 59 B8 TN A hela P T frd Treg F1

seauTe far T 82
1. affair

2. secret

3. last

4, code

Correct Answer :-

e code

39) Among the following, the leader most closely associated with the Sarvodaya movement was /

frafafed # 9 o9 & A1, waiey s & 61y 969 FAeear 4 93
1. Rajendra Prasad / YOI UG

2. Jawaharlal Nehru / STATREITd A8

3. Acharya Narendra Dev / 3TaTd g &

4. Jayaprakash Narayan / STOYRIR] ARTIUT

Correct Answer :-

« Jayaprakash Narayan / STIUH TR ARTIUI

40) The series given below contains a sequence of humbers. Identify the incorrect combination: / EIEKA|

TS gaar ®, Y=sil &1 U i IR § | TTad WaleH ugnfe:
16, 19, 25, 28, 32, 37, 43

1.25

2. 43

3.37

4.32



Correct Answer :-

e 32

Topic:- Mental Ability and Mental Aptitude

1) )
In the sequence shown below, which figure comes next? / =i T&dr TRr & &, 3730l

HTHfd Sl & 3mEn?

O DB -

X @D W

4,

Correct Answer :-

B

2)



In the sequence shown below, which figure comes next? / == & TRr && #, 31T
HHT Pl dr 3REEN?

&

m w

@D
@
&
D

Correct Answer :-

3)

If the following two squares shown below overlap, which one of the following options

is formed? / afg et & a9 Hdad §Id &, df o & ¥ i &1 vk Aoved gaar 7

A=
n/)ﬁ

=




411

L

=

Correct Answer :-

4) Rs. 750 are divided among A, B and C in such a manner that A: B=5:2and B: C=7: 13, What is C’s
share? /750 TUU P A, BR C P T sHUPR FieTwTaI e fF A : B=5:23RB: C=7: 13 18I CH
o= vue fad?

1. Rs. 250 /250 ¥4UQ
2. Rs.200/200 %4U
3. Rs. 260 /260 %UU

4. Rs. 140/ 140 349U

Correct Answer :-

* Rs.260/260%UU

5)



What percent of a day is 5 hrs? / 5 He, U &1 &1 foaq ufazra 82

4.20 %

Correct Answer :-

6) If the side of a square is increased by 7 %, then, its area will increase by: /uﬁ Udh T P Yt " 7% q@

& & oI o SuP & | f gfs g
1.7%

2. 14.49 %

3.49%

4.49 %

Correct Answer :-

e 1449 %

7) If the radius of a cylinder is increased by 20 %, find the percentage increase in its volume. /afe Udh CREK]

34t 20% aF 91 &1 9E, 9 39 SMad- | g4 arell gie =1 g
1.45%
2. 44 %
3. 40 %

4.42 %

Correct Answer :-

. 44%

8)



If the cost of 1 dozen apples is Rs. 18, then the cost of 25 apples will be: /afe U ol A9 &1 Hea 18 I gar
25 99 BT g4 01 gRm:

1. Rs. 25.00 /25 30
2. Rs. 36.50 / 36.50 ST
3. Rs. 37.50 / 37.50 ST

4. Rs. 35.00 /35 S0

Correct Answer :-

« Rs.37.50/37.50 34U

9) Tap A fills a tank in 9 hours; Tap B fills the same tank in 6 hours. If both the taps are opened simultaneously,
they will fill the tank in: / U® & A TP ¢ I 9 T T YT 8; B ST P B 6 6 W U1 81 Tl I A9
THATY A g af &b fapait 3R A R S

1. 7 hours 30 min / 7 ©¢ 30 i,
2. 3 hours 36 min / 3 T¢ 36 fH.
3. 3 hours 45 min / 3 T¢ 45 fa.

4. 5hours/ 5 e

Correct Answer :-
« 3 hours 36 min / 3 ©¢ 36 fH.

10) A father is 30 years older than his son. However, he will be only thrice as old as his son after 5 years. What
is the present age of the father? / TUAT BT 3T T B 3T T 30 AT AP § | TP 5 T T1G DL 3T
ISP T B g ot i T i1 e Y gt oy fpat 82

1. 40 years / 40 CL
2. 50 years / 50 Gl
3. 30 years / 30 Gl

4. 60 years / 60 CL

Correct Answer :-

e 40 years /40 Gl

11) If32/x =x/8, then the value of x is: / f& 32 / x = x / 8 & x DT A f=1 gm:
1. 246

2.16

3. 256



4. 14

Correct Answer :-
e 16

12) A and B can do a work in 20 days; B and C can do the same work in 12 days; A and C can do the same
work in 15 days. If all of them work together, then how many days will it take for them to complete the work? /

AR BIFAI TS 20 RAT R HAE; R cSHFua 2RAFT W HAE; A siRc A v T
15 A A 7 I@d €1 afe @it a1y fraes &8 o3¢ qt &1 fHam f&m 3 g1 8 s

1. 14 days / 14 f&4
2. 10 days / 10 f&
3. 12 days/ 12 &

4. 8 days / 8 fa

Correct Answer :-

e 10days/10feT

13) A and B, working separately, can do a piece of work in 10 and 15 days respectively. If they work on
alternate days beginning with A, then in how many days will the work be completed? / A 3T B S-S
TIHx BT B § SR THH ST BI HHRM: 10 3R 15 &N & R 3w §1 afe A o1 w3 3t IR=3ma wrar
2 3R P2 9 UP-U® 371 BisHY S Td ¢ dl g8 B fobaq fa1 & qof g

1. 13 days / 13 faA
2. 12 days / 12 &
3. 18 days / 18 fa

4.9 days /9 fa

Correct Answer :-
e 12days/ 12T

14) The Present age of Mitesh and Saumil are 30 and 40 respectively. How many years before the ages of Mitesh

and Saumil were in the ratio of 3 : 5?/ﬁlﬁmaﬁ?;ﬁﬁﬁaﬁaﬁqﬁangm: 30@?403ﬁ%| ﬁﬁlﬁ'ﬂ'ﬂf‘ﬁﬁ
SADT ST BT 3JUTA 3 : 5 UT?

1. 16
2. 10
3.5

4.15

Correct Answer :-



15) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: /

912 & 1E Een A, 2rarR) SR HEmel ®1 UP B Fifed 81 e Saie ygEne:
i.exve0201vexe

ii.exwe(201vexe

iii.exve0201vexe

iv.exve0201vexe

1. iii

16) The sides of a triangle are 5 cm, 12 cm and 13 cm. Find its area. / ﬁ@ﬁ'{-_ﬁ[?ﬁ ‘HTrlTQ' 5 ﬁ., 12 9.
3R 13 9. € O 3UPT &TBd JId BIoT|

1. 30 sq.cm / 30 I T
2.5sq.cm/5 aif et

3. 10 sq.cm/ 10 37 et
4. 15sq.cm/ 15 af ot

Correct Answer :-

* 30sg.cm/30 i gt

17) A bullet travels at 750 m/sec. How long will it take to travel 1 km? / T® gaie 750 H/H. BT TR A Terdt
211 f5th it gt ag fpait QA T wlt

1. 133 sec/1.33 9,
2. 1.4 sec/ 1.4“@[
3.1.5sec/ 1.5 @

4. 12sec/ 129

Correct Answer :-

e 133sec/1339.



18) 4:18::18:?
1. 80
2.90
3.81

4. 85

Correct Answer :-

19) The average age of five girls is 11. The oldest among them is 15 years old. What is the average age of the

others? / 5 TSPl BT AT MY 11 | STH A TSt B 3T 15 Y 3| 3T B Y BT e fawasit ghfte
1.4
2. 12
3. 10

4.9

Correct Answer :-

20) The average of eight number is 12. The average of six of these numbers is 14. The average of remaining two

numbers is: / 8 3] BT AT 12 81 STH T 6 3P| BT AT 14 21 AW &I 3ih) &1 AT 8:
1.4
2.6
3.7

4.5

Correct Answer :-

21) The average of 7 numbers is 5. If the average of the first six of these numbers is 4, the seventh number is / 7

3T BT 3NTd 5 81 TfS 370 A WYH 6 3P BT 3 4 B o Jradl H=AT 3:
1. 12
2. 11

3. 14



4.15

Correct Answer :-

22) The average of first seven multiples of 25 is: / 25 & WU 7 Tmaﬁ &1 3f¥Id gRI:
1. 100

2.75

3. 125

4. 150

Correct Answer :-

23) Insert 2 fractions between 1 and 3/11: / 1 3R 3/11 & §ta & 3 farr fe gift:
1. 4/3 and 4/7
2.2/3 and 1/7
3.2/3and 2/7

4. 1/3 and 2/7

Correct Answer :-
e 1/3 and 2/7

24) The cost price of a desk and a chair is Rs. 371. If the desk costs 12 % more than the chair, find the cost price

of the desk. / U® S 3R FT BT ANT Yed 371 TUA 2| TS ST Pt AN HUT A 12% 3P 8 A S
P AN e 2|

1. Rs. 195 /195 30
2. Rs. 196 / 196 3TY
3.Rs. 197/ 197 348

4. Rs. 194/ 194 390

Correct Answer :-

« Rs. 196/ 196 34U

25) Smitha, an oil merchant, buys oil at Rs. 33 per litre and sells it at Rs. 40.50 per litre. If she sells 225 litres of

oil in a month, what is her total profit? /'@:I_clT, Tl Tdh o IR %, 333U/ W A @ﬂﬂ?ﬁ % 3R 40.50



SUA/cAt.H 99 3l 71 T 98 TP wEH U 225 ©iex dd 99l g, df 39 $d fbaAr ary gem?
1. Rs. 1487.50 / 1487.50 TUU
2. Rs. 1587.50 / 1587.50 ¥0
3. Rs. 1387.50 / 1387.50 U

4. Rs. 1687.50 / 1687.50 ¥4

Correct Answer :-

« Rs. 1687.50 / 1687.50 30

26) Find the average. / 3Nd R
7,13,19, 25,31 & 47

1.21

2.22

3.18

4.20

Correct Answer :-

27) Find the average of first 12 multiples of 10: / 10 & WYUH 12 TV} &1 3T S
1. 55
2. 70
3. 60

4. 65

Correct Answer :-

28) A train of 180 m long passed a pole in 24 sec. How long will it take to pass a platform of 255 m long? / 180

. T Tp 3, T TR B 24 V. W UR Bl 21 255 W T TP Wewid &1 98 fHa-it & # R Saf
1. 52 sec/52 9.
2. 50 sec /50 9.
3.55sec /55 9.

4, 58 sec/ 58 @[



Correct Answer :-

. 58sec/58 9.

29) If Akshaya's age is 1.5 times of what it was 10 years ago; and 0.66 times of what it will be after 10 years;

then, what is her present age? / 10 aﬁq:q‘, &I DY an“ga'c&rﬁaﬁ 1.5 &t 3R 10 9 T1¢ IS arrga?fqﬁao"r
0.66 R, IHSY FefaTT 3y et 32

1.24
2.26
3.27

4.25

Correct Answer :-

30)  Which one of the following four addresses is NOT EXACTLY same as the one given below? / Ta#=1 €31
T TR UGl F F A B o 9T & & A i O U A8y 87

Aarianna Bird

386, Boulevard Chefchaouni, Z1 Ain Sebaa,
Casablanca, Morocco

(i) Aarianna Bird

386, Boulevard Chefchaouni, Z1 Ain Sebaa,
Casablanca, Morocco

(i) Aarianna Bird

386, Boulevard Chefchaouni, ZI Ain Sebaa,
Casablanca, Morocco

(iii)  AariannaBird

386, Boulevard Chefchaowvni, ZI Ain Sebaa,
Casablanca, Morocco

(iv)  AariannaBird

386, Boulevard Chefchaouni, ZI Ain Sebaa,
Casablanca, Morocco

1. il

2.1v



Correct Answer :-

o il

Topic:- Science and Simple Arithmetic

1) In the given figure. PQ || RS and XY L PQ, LACQ = 125°, then ,BAC= ____/f2w 71 &
H PQRS3NXY L PQ.LACQ =125, dd 2BAC =

X

R S

— A —

P ET C Q.
Y

o

1. 55

o

2.35

o

3.30

o

4.25

Correct Answer :-

o

. 35

2) The cube root of 45 x 66 is: /45 % 65 T Hold el %:

1. 13824
2.24
3.576

4.216

Correct Answer :-

« 576

3 (2x+12x2-8x3 - 10¢) + 2x =



1. 10x +4x? — 12x -2
2. 5% +4x? — 6x — 1
3.5x% +4x3 - 6x2 —x
4.1+ 6x —4x% - 5x3
Correct Answer :-

e 5X3+4x%2-6x—1

4) x4+ x2y? + y*is equivalent to: / x* + x2y? + y* = & @aAqed &

3
1. (x2+xy-y X =2-xy+y?)
5 (22 +xv+ ) (L +xv-v2)
3 (2 -xy+ v ) (2 -xy-v2)
(x2+xy+y? X =t-zy+y?)

Correct Answer :-

(2 +xy+y? ) x2-xy+¥?)

5)
A bag contains 3 red balls, 5 black balls and n white balls. A ball is drawn at random from the
bag. If the probability that the ball is red is i then the value of n is: / Tdh dter 31 3 AT e, 5

Frell 3¢ 3R n @hg 98 §1 3 ¥ v G geTes B adr &1 afy g 9@ i
urrfahar ¢ 8, df n & A 8

1.3
2.6
3.4

4.5

Correct Answer :-



®) ABCD is a cyclic quadrilateral such that ZADB = 30° and ZDCA = 80°,
then /ZDAB =__ . /ABCD vus =hrr =gsisr ¢ ot £ADB = 30° 3ik
£DCA=80° @s £DAB=__

o

1. 80

o

2. 50

o

3.70

o

4. 30

Correct Answer :-

o

« 70

7) Find the area of the largest circle that can be cut from a square of side 10.5 cm? / 39 LER a% qd

BT @B 1 B3 &l fb 10.5 JI YT & 7 | PTeT 1 THa1 82

1. 80 cm? / 80 2
2.242.5 cm? / 242.5 GHI2
3.72cm?/72 papsip)

4. 86.6 cm? / 86.6 THI2

Correct Answer :-
. 86.6 cm?/ 86.6 THI2

8) Two cylindrical cans have bases of the same size. The diameter of each is 14 cm. One of the cans is
10 cm high and the other is 20 cm high. The ratio of their volumes is: / 3l SEATeR fes | guE
THR F MMYUR T | AP T ATH 14 AH 81 370 | TP faa7 10 it Fa1 @ 3R gy 20 A San
21 3P AT HT U &

1.3:4
2.2:3
3.1:4

4,1:2

Correct Answer :-



9) Reema types 540 words during half an hour. How many words she type in 6 minutes? / 3T 3

U & IR 540 Yea! DI €T13U Bl g1 a1 6 fiFIe A frd Usa! B e85y BN
1. 90
2.100
3. 108
4.106

Correct Answer :-

« 108

10) The difference between the squares of two consecutive natural numbers is 31. The numbers are: /

3 HUNTA WTpfae T@msil & T & &g #1331 81 A H@IA §:
1. 14 and 15 / 14 3R 15
2.17 and 18 / 17 3R 18
3.15and 16 / 15 3R 16
4.16and 17/ 16 3R 17

Correct Answer :-

.« 15and 16/ 15 3R 16

11) The smallest perfect square divisible by each one of the numbers 6, 9, 15 and 20 is: / 6, 9, 15 MR

20 Tt H@ITSHT H A TS & gRT faufora agad gof ot &:
1.36

2. 900

3. 3600

4,225

Correct Answer :-

e 900

12) An astronaut is standing on the moon. He throws a ball upward. The ball would: / T Gﬁﬁ&fﬁmw

T2 98 g W P 3R bparg | e

1. Keep bouncing on the moon / I gHI U 33! Q%‘“I

2. Go up and then come back to the surface of the moon / HUR W Q‘il Gﬁﬁ%ﬂ ERELI @I gdg TR a1uy 34T ST |



3. Fall into space / 3igiver o iR SrEett |
4. Keep going up and never come down /Wﬁﬂ?ﬁm 3ﬁ?$’-ﬂ:ﬂ%{:lﬁ3ﬂ'@'ﬁl

Correct Answer :-

* Go up and then come back to the surface of the moon /W\_rlTQTﬁ aﬁ?fbﬂa:&m?ﬁﬂa‘s’u?am \’rﬂ\_rl'l'QTﬂl
13) Name the watery fluid in which blood cells float. /WWWWWWWWM%I
1. Serum/ IRA

2. Blood / Xpd

3. Plasma /Gﬂaﬁi[q

4. Lymph /E@W

Correct Answer :-

« Plasma/Slldgdqd

14) Identify the airborn diseases from the following: / ﬁ'ﬂqﬁﬁmﬁﬁﬁﬁﬂaﬁ%ﬂ'ﬁﬁ
1. Goiter and marasmus /W@ﬁw

2. Common cold and tuberculosis /WWQGW (Talh)

3. Rabies and AIDS / Y89l U4 U§9

4, Cholera and diarrhea /%ETQHW

Correct Answer :-

o Common cold and tuberculosis /WWQEH’W (?ﬂiﬁ)
15) The surest test of magnetism is: / JHID T BT qmu‘?r&m &
1. Hammering / YIS

2. Attraction / 3THYT

3. Repulsion /Elﬁlib_ﬁfUT

4. Diffusion / Ta¥ROT

Correct Answer :-

e Repulsion /Uﬁ_Gb_EfUT

16) Which particular area of the eye contains no sensory cells? / 3T& CACEACRIL aaﬁaﬁé A SIRHT
TR il 82



1. Iris / TRATN®T (3M8R)

2. Eye lens / 3 A= (3175 A9

3. Blind spot / 3R (AR S UIC)
4. Cornea / X[AdUCH (HIT-A)

Correct Answer :-

« Blind spot / 3{RJ (G\FIT%’@?[Q\TJE)

17) The network of drainage pipe to carry out waste water is called: / 3UfRIT a & fAHTeM & forw 34w
UT3Y & A &1 HgT AT 8:

1. Sewer system / iR gomat
2. Drainage / ST

3. Waste water supply / 3OS 5@ 3mgfd
4, Water supply system / STd 31Tgfei orTett

Correct Answer :-

» Sewer system /?ﬁ?ﬂm

18) Which one of the following statements is NOT true for a rectangle? / T&% 3Mad & fore fFufafaa
# q P9 I HYT I 781 82

1. Its diagonals bisect each other. / $9d fadmul Te gER & fguTiord od g

2. Its diagonals are perpendicular. / 39& fdeuf Trad gid €1

3. Its diagonals are equal and bisect each other. / ST [dHUl THT BId § 3R Th AR &} fgHIfTd o §
4. Its diagonals are equal. / 39 fae0f THH 1A €|

Correct Answer :-

« Its diagonals are perpendicular. / 39% fdwuf Traad 81 B

19) The population of a town was 25000. If it had increased by 4%, 5% and 8% in the last three
years, the present population of the town is: / T e 31 Sx@ 25000 H | afe Uz 9 quf # ag
4%, 5% 3R 8% I §El, dl XER B TAH FTAHC B2

1. 29484
2. 29000
3. 29400

4. 28900



Correct Answer :-

« 20484

20) Rahul gets Rs. 5000. He spends 15% on studies, 28% on food and 10% on clothing. His
savings will be: / I§d P 5000 TUY YT §TI ST UGTE W 15%, HISH TR 28% 3R FUSI W 10% Td
P fear Su®! 39d it :

1. Rs. 2500 / 2500 ¥UT
2. Rs. 2200 / 2200 T
3. Rs. 2300 / 2300 ST
4. Rs. 2000 / 2000 TG

Correct Answer :-

. Rs. 2300 /2300 30

21) By what number should (-15 ) ~ 2 be divided so that the quotient is equal to (-5) ~ 3? / {9 J@=
ERT (-15) ~ 2 3 fyuifora == a1iee foras i urmmwa (-5) —3 & JaHE 87

-5
1.

-9
2.
3.
4.

Correct Answer :-

22) Reproductive functions in humans are initiated by: / 'Flﬂ'@ H yo gt sﬂ% GIRT 3RFH f5a Sra

1. Hormones / gﬁﬁ:f
2. Nerves / AT



3. Enzymes / TIT9H
4. Blood / 3feR

Correct Answer :-

e Hormones / E'I'l:ﬁ-:f

23) Earthing is provided in homes to protect the homes from: / ﬁﬁ%ﬂ#{, ﬁﬁﬁﬁﬁﬁ%m
e far Sran 8:

1. Electric shocks /%ﬁ?ﬂ%ﬂ
2. Earthquakes / W

3. Cyclonic storms / déhdld Wb
4. Lightning /@\_ﬂ?ﬁ

Correct Answer :-

e Electric shocks /%ﬁ?ﬂa?w

24) The water conducting tissue generally present in gymnosperm is: / ﬁﬁ;‘ﬁ?ﬂﬁﬁm:m
I AP P 8-

1. Xylem ﬁber/maﬂ
2. Sieve tube /El'l?i:ﬁ:lﬁiw

3. Vessel /?:m%w’z
4, Tracheid / Eﬁg

Correct Answer :-

« Tracheid /| CHIS

25) The percentage of solar radiation absorbed by all the green plants for the process of

photosynthesis is about . WWW CARIE %ﬁ‘l’[{ W@Tﬁ%ﬁm ST IR
fafes~or &1 uferra amum gargl

1.1%
2. 5%
3. 10%

4. 8%

Correct Answer :-

e 1%



26) Which of the following is a male hormone? / ﬁqﬁﬁﬁaﬁqmwmamﬁ%?
1. Insulin /Eﬂﬁﬁ’ﬂ
2. Thyroxin / YRRIfaRA

3. Estrogen /Q@TFFI
4, Testosterone / WA

Correct Answer :-

o Testosterone / TR

27) Which one of these is the most appropriate consequence of deforestation? / ﬁ?ﬁ@ﬁﬁw U

T BT Jaified Iuga Ufvond 32

1. Destruction of habitat only /W 3 T faT=T
2. Global warming only /W ﬂ{q‘s’?ﬂq&"&ﬂaﬂm
3. All of the above /mﬁﬂm

4. Soil erosion only / WHET AURgA

Correct Answer :-

e All of the above /Wﬂﬂ-ﬁ

28) Angiosperms possess: / Wﬁ'ﬂg'ﬁﬁﬁ%
1. Seeds / EIS]

2. Flowers / odl
3. True vessels /WET%W
4. Tracheids / CHIS

Correct Answer :-

« True vessels / ARdld® dlfgdhIy

29) The most common chemical used for water disinfection is: / WWW% ﬁlﬂﬂ'ﬁiﬁrm SH
T 3:

1. Oxygen / NIcNiE]
2. Chlorine / FARE
3. Nitrogen / ATS¢IoH

4. Carbon dioxide / BT STSIHHASS




Correct Answer :-

« Chlorine / TR

30) The major cause of environmental pollution is the use of: / whwﬂ"augw DIy SR SADT START

1. Fossil fuels / Gﬂawms‘u:r
2. Tidal energy /\_rlﬂmq Sl

3. Wind energy / Udd Sl
4. Solar energy / @TEGI

Correct Answer :-

e Fossil fuels / Gﬁamn‘%a:r



